International Journal of Mathematical Archive-6(11), 2015, 114-119 MA Available online through www.ijma.info ISSN 2229 - 5046

A NOTE ON BOOLEAN TERNARY SEMIRINGS

S. SAMBASIVA RAO^{1*}, MARUTHI SRINIVAS²

^{1,2}Faculty of Mathematics, Department of Humanities and Basic Sciences, SVS Group of institutions, Bheemaram, Warangal-506015, Telangana, India.

(Received On: 02-11-15; Revised & Accepted On: 26-11-15)

ABSTRACT

T he main purpose of this note is to prove that a commutative Boolean ternary semiring of characteristic two is isomorphic to a Boolean ring. Further, we construct a ternary semiring (not necessarily commutative), provided a semiring with absorbing zero and some of their properties are obtained. Finally, the existence of a non-commutative Boolean ternary semiring which is not of characteristic two is illustrated.

Keywords: Ternary semiring, Boolean ternary semiring, multiplicatively idempotent, Ternary Boolean algebra.

Mathematics Subject classification (2012): 16Y60, 16Y99.

§0.INTRODUCTION

The notion of Ternary semiring was introduced by T. K. Dutta and S.Kar and studied their properties extensively (see [3], [19], [20] and [21]). More Precisely, A nonempty set T together with a binary operation called addition and a ternary multiplication denoted by [1] is said to be a *ternary semiring* (in short TSR) if T is an additive commutative semi group satisfying the following conditions :

i) [[abc]de] = [a[bcd]e] = [ab[cde]],ii) [(a + b)cd] = [acd] + [bcd],iii) [a(b + c)d] = [abd] + [acd],iv) [ab(c + d)] = [abc] + [abd] for all *a*; *b*; *c*; *d*; *e* \in T.

For the convenience we write $x_1x_2x_3$ instead of $[x_1x_2x_3]$ For the definition of semiring and undefined terms in this paper

we refer [7], [13] [19], [20], [21] and [22] and Z_0^- will denote the set of all non positive integers. It is clear that a binary operation can be considered as a ternary operation on the underlying nonempty set; therefore, every semiring can be regarded as a natural example for a ternary semiring, whereas Z_0^- forms a ternary semiring with respect to usual addition (+) and multiplication (·) as a ternary operation which is not a semiring. In this paper, we investigate few interesting properties of a ternary semiring in which every element is multiplicative idempotent (see Definition 1.1 (iii)), called Boolean Ternary semiring (BTSR).

§1. PRELIMINARIES

Definition 1.1: Let T be a TSR, $a \in T$. Then a is said to be

- (i) **Additive zero** if a + x = x + a = x for all $x \in T$,
- (ii) The additive zero 0 in T is called an **absorbing zero** if ab0 = a0b = 0ab = 0 for all a, b in T,
- (iii) *Multiplicatively idempotent* element if aaa = a (simply we write $a^3 = a$),
- (iv) *Additive idempotent* element if a + a = a,
- (v) An element e of T is called **unital element** if aee = eae = a for all a in T.

*Corresponding Author: S. Sambasiva Rao

^{1,2}Faculty of Mathematics, Department of Humanities and Basic Sciences, SVS Group of institutions, Bheemaram, Warangal-506015, Telangana, India. *E-mail: ssrao.siginam@gmail.com*

S. Sambasiva Rao^{1*}, Maruthi Srinivas² / A Note On Boolean Ternary Semirings / IJMA- 6(11), Nov.-2015.

Remark 1.2:

- (i) In rings, every zero is absorbing, but in ternary semiring not every zero is absorbing, which is evident from Example 1.4(2), that the element 1 is not an absorbing zero.
- (ii) If e is a unital element of TSR T, then abe = aeb = eab for all a, b in T.

Definition 1.3: A ternary semiring T is called:

- (i) *"Commutative"* if and only if abc = bca = cab = bac = cba = acb for all $a, b, c \in T$.
- (ii) "**Regular**" if and only if, to each $a \in T$ corresponds an element $a' \in T$ such that aa'a = a.
- (iii) **"Boolean"** if and only if every element in T is multiplicatively idempotent.

Examples 1.4: Some interesting examples for ternary semiring are

- 1. Let T be the set of all $n \times n$ real skew-symmetric matrices over ring of integers that commutes with each other. Then T is a TSR with addition of matrices and matrix multiplication as the ternary operation, whereas the set S of all commuting $n \times n$ real symmetric matrices over the set of non negative integers forms a semiring with respect to matrix addition and multiplication.
- 2. Let $O = \{1,3,5,7,...\}$ be the set of all odd positive integers. If we define \oplus and \circ on O as $a \oplus b = \max\{a,b\}$ And $a \circ b \circ c = a + b + c$ for all a, b, c in O, where + indicates the usual addition of integers. Then (O, \oplus, \circ) is a commutative TSR in which every element is additive idempotent but not multiplicatively idempotent.
- 3. Let $T = \{5,10,15\}$. If we define on T as $a \oplus b = LCM\{a,b\}$ and $a \circ b \circ c = GCD\{a,b,c\}$, where LCM and GCD stand for the least common multiple and greatest common divisor of positive integers, *T* is a commutative TSR with additive zero element 5. Further, every element of T is both additive and multiplicatively idempotent.

Definition 1.5: A ternary semiring $(T, +, \cdot)$ is additive cancellative if for a, b, c in T

- (i) a + b = a + c implies b = c,
- (ii) a + b = c + b implies a = c.

Definition 1.6: Let T be TSR with additive zero 0. If there exists the least positive integer n such that a + a + ... + a = 0 (n arguments on the left hand side, in this case we write na = 0) for each a in T, it is called the characteristic of T; we denote it by Char (T).

The following lemma is useful in the sequel.

Lemma 1.7: Let $(T, +, \cdot)$ be a ternary semi ring of characteristic two. Then

- 1) T is additive cancellative.
- 2) For a, b in T, a + b = 0 implies a = b.
- 3) ab0 = a0b = 0ab = 0 for all a, b in T.

Proof: Routine.

Remark 1.8: The converse of Lemma 1.7 is not necessarily true as it is evident from the fact that $(Z_0^{-}, +, \cdot)$ is a TSR, in

which (1), (2) and (3) of Lemma 1.7 hold but Char $(Z_0) \neq 2$.

Definition 1.9: (see [18]) A system $(R, +, \cdot)$ is a Boolean semiring if and only if the following properties hold:

- 1. (R, +) is an additive (abelian) group (whose "zero" will be denoted by "0")
- 2. (R, \cdot) is a semigroup of idempotents in the sense, $a \cdot a = a$, for all a in R
- 3. a(b+c) = ab + ac and
- 4. abc = bac, for all a, b, c in R (weak commutative).

Example 1.10: (see [18]) Let (G, +) be any abelian group and define $a \cdot b = a$, for all a, b in G. Then $(G, +, \cdot)$ is a Boolean semiring.

§2. ASSOCIATED TERNARY SEMIRING

We now provide a method to construct a ternary semiring (not necessarily commutative), provided a semiring with absorbing zero 0.

Let $(S, +, \cdot)$ be a semiring with absorbing zero 0 and $M_2^-(S)$ the set of all matrices of the form $\begin{bmatrix} 0 & a \\ b & 0 \end{bmatrix}$,

where $a, b \in S$, forms a ternary semiring with respect to addition \oplus and matrix multiplication \circ defined as $\begin{bmatrix} 0 & a \\ b & 0 \end{bmatrix} \oplus \begin{bmatrix} 0 & c \\ d & 0 \end{bmatrix} = \begin{bmatrix} 0 & a+c \\ b+d & 0 \end{bmatrix}$ and $\begin{bmatrix} 0 & a \\ b & 0 \end{bmatrix} \circ \begin{bmatrix} 0 & c \\ d & 0 \end{bmatrix} \circ \begin{bmatrix} 0 & e \\ f & 0 \end{bmatrix} = \begin{bmatrix} 0 & a \cdot d \cdot e \\ b \cdot c \cdot f & 0 \end{bmatrix}$ for all $a, b, c, d, e, f \in S$. (Indeed, the ternary operator \circ is the usual matrix multiplication as ternary operator over S). We shall call this $M_2^-(S)$, the ternary semiring associated with S. Further, the set $M_2^+(S) = \left\{ \begin{bmatrix} a & 0 \\ 0 & b \end{bmatrix} : a, b \in S \right\}$ forms a semiring with respect to matrix addition and matrix multiplication and the matrix ternary semiring $M_2(S)$ over a semiring S is a direct sum of $M_2^-(S)$ and $M_2^+(S)$ as a ternary semirings.

We now discuss certain properties of semirings in connection with their associated ternary semirings.

Theorem 2.1: Let $(M_2^{-}(S), \oplus, \circ)$ be the ternary semiring associated with a semiring $(S, +, \cdot)$. Then the following statements hold:

- (i) S can be regarded as ternary subsemiring of $M_2^-(S)$.
- (ii) If $M_2^{-}(S)$ is commutative, then S is commutative.
- (iii) If $M_2^{-}(S)$ is Boolean then S is Boolean.
- (iv) If $M_2^{-}(S)$ is regular, then S is regular.

(v) If e is multiplicative identity in S, then $\begin{bmatrix} 0 & e \\ e & 0 \end{bmatrix}$ is bi-unital element in $M_2^-(S)$

Proof: Proof of (v) is clear, and one can prove (ii), (iii), (iv) as simple consequences of (i). We prove (i): If we define ψ : $(S, +, \cdot) \rightarrow (M_2^-(S), \oplus, \circ)$ as $\psi(a) = \begin{bmatrix} 0 & a \\ a & 0 \end{bmatrix}$ for all a in *S*, then ψ is a ternary homomorphism and one-one, therefore,

S can be considered as ternary subsemiring of $M_2^{-}(S)$.

Theorem 2.2: (page 3 of [7]) If $(S, +, \cdot)$ is a semiring without identity element (hemi ring), then we can canonically embed it in a semiring with identity element in the following manner: Let $R = S \times Z_0^+$ and define operations of addition and multiplication on S by setting (r,n) + (r',n') = (r+r',n+n') and $(r,n) \cdot (r',n') = (nr'+n'r+rr',nn')$ for all (r,n), (r',n') in R, where Z_0^+ is the set of non negative integers. Then $(R, +, \cdot)$ is a semiring with multiplicative identity (0, 1), called **the Dorroh extension** of S by Z_0^- .

Theorem 2.3: Every Associated ternary semiring without unital element can be embedded into a ternary semiring with unital element.

Proof: Let $M_2^{-}(S)$ be the ternary semiring associated with a semiring S.

Assume that $M_2^{-}(S)$ is a ternary semiring without the unital element.

By (v) of Theorem 2.1, S is a semiring without identity. Let *R* be the Dorroh extension of *S* by Z_0^- as in the Theorem 2.2.

Then $M_2^-(R)$ is a ternary semiring with unital element $\begin{bmatrix} 0 & (0,1) \\ (0,1) & 0 \end{bmatrix}$. If we define $\psi: (M_2^-(S), \oplus, \circ) \to (0,1)$

 $(M_2^-(R), \oplus, \circ)$ by $\psi \left(\begin{bmatrix} 0 & a \\ b & 0 \end{bmatrix} \right) = \begin{bmatrix} 0 & (a,0) \\ (b,0) & 0 \end{bmatrix}$ for all $\begin{bmatrix} 0 & a \\ b & 0 \end{bmatrix} \in M_2^-(S)$, then ψ is an injective ternary homomorphism. This completes the proof

homomorphism. This completes the proof.

§3. MAIN RESULTS

Throughout this section, T will always denote a ternary semiring with absorbing zero 0 and unless otherwise stated a ternary semiring means a ternary semiring with absorbing zero. The notion of Boolean ternary semiring (BTSR) was originally introduced by D. M Rao *et al.* and established the following result (see Definition IV.1 and Theorem IV.4 of [13]).

Theorem 3.1: (see [13]) If T is a BTSR, then (i) a + a = 0. (ii) a + b = 0 implies a = b. (iii) aba = bab.

The following example shows that (i) and (iii) of theorem 3.1 is false.

Example 3.2: Let $S = \{0, 1, 2, 3, 4\}$. Define + and \cdot on S as in the following Cayley tables.

+	0	1	2	3	4
0	0	1	2	3	4
1	1	2	3	4	2
2	2	3	4	2	3
3	3	4	2	3	4
4	4	2	3	4	2

•	0	1	2	3	4	
0	0	0	0	0	0	
1	0	1	2	3	4	
2	0	2	4	3	2	
3	0	3	3	3	3	
4	0	4	2	3	4	

Then $(S, +, \cdot)$ is a commutative semiring

with additive zero 0 (see page 19 of [17]). It is clear that $0^3 = 0$, $1^3 = 1$, $2^3 = 2$, $3^3 = 3$, $4^3 = 4$. Since every semiring is TSR, S is a commutative Boolean Ternary semiring in which (i) and (iii) of theorem 3.1 fails to hold in S. For this, $a + a \neq 0$ for all $0 \neq a \in S$ and if a = 2, b=4 then aba \neq bab.

Theorem 3.3: Let T be a Boolean Ternary semiring. Then the following statements hold:

- 1) For all a in T, 2a = 8a.
- 2) If $a \in T$ is an additively invertible element of T, then 6a = 0.
- 3) If T has a bi-unital element e, then e is the only multiplicatively invertible element of T.
- 4) In addition, if T is additive cancellative TSR, then $T = \bigcup_{a \in T} T_a$, where $T_a = \{a, 2a, 3a, 4a, 5a, 6a\}$.

Proof:

(i) Let $a \in T$. Then $(a+a)^3 = (a+a)$ $\Rightarrow (a+a) (a+a) (a+a) = (a+a)$ $\Rightarrow (a+a) a (a+a) + (a+a)a(a+a) = (a+a)$ $\Rightarrow a a(a+a) + aa (a+a) + (a+a)aa + (a+a)aa = (a+a)$ $\Rightarrow 8a = 2a$. (Since $a^3 = a$ for all a in T)

(ii) Let *a*, *b* in T be such that a + b = 0. Then 2a + 2b = 0. Since 8a = 2a, we have 6a = 6a + 0 = 6a + 2a + 2b = 8a + 2b = 2a + 2b = 0.

(iii) Let *a*, *b* in T be such that abt = atb = tab = e for all *t* in T, where *e* is the biunital element in T. Then a = aee = a(bae)(abe) = (aba)e(abe) = eee = e.

(iv) Let $a \in T$. Then $(a+a)^3 = (a+a)$

 $\Rightarrow 8a = 2a$ $\Rightarrow 7a+a = a + a$ $\Rightarrow 7a = a \text{ (by additive cancellativity)}$ $\Rightarrow 8a = 2a, 9a = 3a, 10a = 4a, 11a = 5a, 12a = 6a. \text{ This completes the proof.}$

Theorem 3.4: Let $(T, +, \cdot)$ is a commutative Boolean ternary semiring and char (T) = 2. If we define \circ on T as $a \circ b = a \cdot a \cdot b$ for all a, b in T, then $(T, +, \circ)$ is a Boolean ring. Further, if we define $\psi: (T, +, \cdot) \to (T, +, \circ)$ as $\psi(a) = a$ for all a in T, then ψ is isomorphism, considering $(T, +, \circ)$ as a ternary semiring.

First we establish the following Lemma under the hypothesis of Theorem 3.4.

Lemma 3.5: For any a, b in T, aba = bab.

Proof: Let $a, b \in T$ then $a + b \in T$ $\Rightarrow (a + b)^3 = (a + b)$ $\Rightarrow (a + b) (a + b) (a + b) = (a + b)$ $\Rightarrow (a + b) a (a + b) + (a + b)b(a + b) = (a + b)$ $\Rightarrow a a (a + b) + b a (a + b) + (a + b) b a + (a + b) b b = (a + b)$ $\Rightarrow a^3 + aab + baa + bab + aba + abb + b^3 = (a + b)$ $\Rightarrow a + (aab + aab) + (bab + bab) + (aba + bab) + b = a + b$ (By commutativity and multiplicative idempotency of T) $\Rightarrow a + ab (a + a) + ba(b + b) + (aba + bab) + b = a + b$

Since a + a = 0 and additive cancellative laws of T (in view of (1) of Lemma 1.7),

We have aba + bab = 0

In view of (2) of Lemma 1.7, we have aba = bab. This completes the proof.

Proof of Theorem 3.4: It is clear that $a \circ a = a \cdot a \cdot a = a$, and $a \circ 0 = 0 \circ a = 0$ for all a in T.

Also, $a \circ b = b \circ a$ for all a, b in T

Let a, b, $c \in T$. Then $a \circ (b \circ c) = a \circ (bbc)$ = aa(bbc) = (aab)bc = (aba)bc $= (bab) bc \quad (in view of Lemma 3.5)$ = (abb)bc $= a(bbb)c = abc \quad (since b^{3} = b)$

Similarly we can show that $(a \circ b) \circ c = abc$, therefore (T, \circ) is a commutative semigroup.

We now consider $a \circ (b + c) = aa(b+c) = aab + aac = a \circ b + a \circ c$.

Since (T, \circ) is a commutative semigroup, we have $(a + b) \circ c = c \circ (a+b)$ $= c \circ a + c \circ b$ $= a \circ c + b \circ c$

Also, since a + a = 0 for all a in T, every element of T has additive inverse.

Hence $(T, +, \circ)$ is a Boolean ring. By routine verification, one can prove ψ is a ternary isomorphism.

It is a well known fact that a Boolean algebra can be turned into Boolean ring and vice versa (see page 5 of [22]). Also, there is a one-to-one correspondence between a ternary Boolean algebra and an abstract Boolean algebra (see [1]). Thus, we have proved that there is a one-to-one correspondence between a commutative BTSR of characteristic two and a ternary Boolean algebra, as a consequence of Theorem 3.4.

Definition 3.6: A commutative semiring $(S, +, \cdot)$ is called Boolean semiring if $a \cdot a = a$ for all a in S.

Definition 3.7: (see [5]) A near ring (R, +, \cdot) is said to be idempotent if $a^2 = a$ for all a in R.

Proofs of the following theorems are routine and hence omitted.

Theorem 3.8: If $(T, +, \cdot)$ is a commutative BTSR satisfying $a \cdot b \cdot a = b \cdot a \cdot b$ for all a, b in T and if we define \circ on T as $a \circ b = a \cdot a \cdot b$ for all a, b in T, then $(T, +, \circ)$ is a Boolean semiring in the sense of definition 3.6.

Theorem 3.9: If $(T, +, \cdot)$ is a commutative BTSR of characteristic two and if we define \circ on T as $a \circ b = a \cdot a \cdot b$ for all a, b in T, then $(T, +, \circ)$ is a Boolean semiring in the sense of definition 1.9.

Theorem 3.10: If $(T, +, \cdot)$ is a commutative BTSR and if we define \circ on T as $a \circ b = a \cdot a \cdot b$ for all a, b in T, then $(T, +, \circ)$ is an idempotent near ring.

Finally, we provide an example for the existence of a non commutative BTSR in which additive cancellative law fails to hold and not of characteristic two.

Example 3.11: Let $(S, +, \cdot)$ be a commutative semiring as in Example 3.2. Then the TSR associated with S, $M_2^-(S)$ is a non commutative ternary semiring. Also, $M_2^-(S)$ is not a Boolean ternary semiring as $\begin{bmatrix} 0 & 2 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} 0 & 2 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} 0 & 2 \\ 0 & 0 \end{bmatrix} \neq \begin{bmatrix} 0 & 2 \\ 0 & 0 \end{bmatrix} \neq \begin{bmatrix} 0 & 2 \\ 0 & 0 \end{bmatrix}$.

However the set $B_2^-(S) = \left\{ \begin{bmatrix} 0 & a \\ b & 0 \end{bmatrix}$: either a = b = 0 or $a \neq 0, b \neq 0 \right\}$ forms a Boolean ternary subsemiring of

 $M_2^{-}(S)$ in which commutative and additive cancellative laws fails to hold. For this,

$$\begin{bmatrix} 0 & 2 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} 0 & 2 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} 0 & 3 \\ 2 & 0 \end{bmatrix} \neq \begin{bmatrix} 0 & 2 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} 0 & 3 \\ 2 & 0 \end{bmatrix} \begin{bmatrix} 0 & 3 \\ 2 & 0 \end{bmatrix} \begin{bmatrix} 0 & 2 \\ 1 & 0 \end{bmatrix}, \begin{bmatrix} 0 & 2 \\ 2 & 0 \end{bmatrix} + \begin{bmatrix} 0 & 4 \\ 4 & 0 \end{bmatrix} = \begin{bmatrix} 0 & 2 \\ 2 & 0 \end{bmatrix} + \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$$

does not imply
$$\begin{bmatrix} 0 & 4 \\ 4 & 0 \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$$
 and Char($B_2^-(S)$) $\neq 2$.

REFERENCES

- 1. A.A. Grau, "Ternary Boolean Algebra", Bull.Amer.Math.Soc, Vol. 53, No.6 (1947), 567-572.
- 2. A. L. Foster., "The theory of Boolean like rings", Trans. Amer. Math. Soc. Vol. 59, 1956.
- 3. Dutta, T.K. and Kar, S., "A note on regular ternary semirings", Kyung-pook Math. J., 46(2006), 357-365.
- 4. Ivan Chajda, M. Kotrle, "Boolean semirings", Czechoslovak Mathematical Journal, Vol. 44(1994), No. 4, 763-767.
- 5. James R. Clay and A. Lawyer, "Boolean Near-Rings", Canda. Math.Bull. Vol.12, No.3, 1969, 265-273.
- 6. J. S. Golan, "Some recent applications of semirings", International conference on algebra in the memory of Kostia Beidar, National Cheng Kung University, Tainan, March 6-12, 2005.
- 7. J.S. Golan, "Semirings and their applications", Kluwer Academic Publication, 1999
- K. Venkateswarlu, B V N Murthy, N. Amarnath., "Boolean Like Semirings", Int. J. Contemp. Math. Sciences, Vol. 6, 2011, no.13, 619-635.
- 9. Kanak Ray Chowdary et al., "Some structural properties of semirings", Annals of Pure and Applied Mathematics, Vol. 5, No. 2, 2014, 158-167.
- 10. Kar, S., "On quasi-ideals and bi ideals in ternary semirings", Int. J. Math. Math. Sc., 18 (2005), 3015-3023.
- 11. Lehmer. D. H., "A ternary analogue of abelian groups", Amer. J. Math., 59(1932), 329-338.
- 12. Lister, W.G., "Ternary rings", Trans Amer. Math.Soc., 154 (1971), 37-55.
- 13. Madhusudhana Rao. D, Srinivasa Rao. G., "*Characterstics of Ternary semirings*", International Journal of Engineering Research and Management, Vol.2, No.1, January 2015.
- 14. Madhusudhana Rao. D., "Primary Ideals in Quasi-Commutative Ternary Semigroups", International Research Journal of Pure Algebra 3(7), 2013, 254-258.
- 15. Madhusudhana Rao. D., and Srinivasa Rao. G., "Special Elements of a Ternary Semirings", International Journal of Engineering Research and Applications, Vol. 4, Issue 11 (Version-5), November 2014, pp. 123-130.
- 16. Madhusudhana Rao. D, and Srinivasa Rao. G., "Concepts on Ternary Semirings", International Journal of Modern Science and Engineering Technology, Volume 1, Issue 7, 2014, pp. 105-110.
- 17. Md. J. Abu Shamla, "On some types of Ideals in semirings", M. Sc. thesis, Islamic university of Gaza, Gaza, Palestine, August 2008.
- 18. N. V. Subrahmanyam, "Boolean semi rings", Math. Annalen, 148, 395-401, 1962.
- 19. T. K. Dutta, S. Kar, "On Matrix Ternary Semirings", IJMA, 1, No,1 (2006), 97-111.
- T.K. Dutta and Kar S., "On Regular Ternary Semirings", Advances in Algebra, Proceedings of the ICM Satellite Conference in Algebra and Related Topics, World Scientific, New Jersery, 2003, 343-355.
- 21. T. K. Dutta, K.P.Shum, Shobhan Mandal, "Singular Ideals of Ternary Semirings", EJPAM, Vol. 5, No. 2, 2012, 116-128.
- 22. J. Lambek, "Lectures on Rings and Modules", Reprinted by AMS, 2009.

Source of support: Nil, Conflict of interest: None Declared

[Copy right © 2015. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]